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x(k+1) =Fx (k) +Gulk) (5-6)
{y(/e)ZCx(k)

T
F =e'", G:j e*drB (5-7)

-6 IR (5-1) A A4 B BOR A == 18] 7 # . AT WL, B B Ak B SC i 5 (5-7) v AR 1
£k OGN I i

512 \RIVHBELURRGHIRERF 1+

M G-D R RGO BT MLy (O Z LRI N RS EH A r (0, 050
W LT 261

y(N)=Cx(N) =r, (5-8)
% G- BT R R G A SO RS . MBI TCBUI R G i WA J505 2 DL A5
X(N) =0 (5-9)

AR K FE NT<e<<(N+DT BN, EHES (O =u(N) REHE B G-1
LM% (N)=0 B, ZE NT<¢<S(N+HDT WERBH x () =x (N, B AR, Wik
UL =NT BRI S 25 e

u(t) =u(N) (=NT) (5-10)
BEBT x (1) =x (N) HAMAE WX (5-8)FF ¢ =NT B 4f 283 2
y()=Cx()=Cx(N)=r, (=NT) (5-11)

THITE RGN IRES M A HEDHAB N /e k. RG-OER
BREZ SR m A (G- B BB I ER B2 4140 n A il R 20 (5-8) A1k (5-9) 4H A
B9 m +n AEREESM N 1A - a8 R & w0 u(1) - a(N—1) u(N)JhmED



216 @' it E AL H AR 4R

FEHE m +n DR S EG R
(N+Dr=Gn+n) (5-12)
/DA NG 2 (5-12) IR /N B,

513 HH RBEITENRITTER
L B ESRAS T A RE AL

XF T H S - 1) 45 Y B B X G A 1 SR 2 25 ) J7 i ISR BE A 30 T %) LR A 8
el TR G-7) R R BORE T I (5-6) .

2. RKiFBIRERF MK (5-8) JFpi &4 [X (5-9) JB U (=)
BT G B Ok 25 2 8]y AR L (5-6) TR i
x(B)=F'x(0)+ >, F 7 'Gu(j) (5-13)

j=0

B RAE N BEHHE 50 (D) = w(N—1D WEHFBPIRE N

N-1

x(N)=F"x(0) + >, FN"'Gu(j) (5-14)
B RGEMWIIG A MF 2 (0 =0, MF
N—1
x(N)= > F¥N7'Gu(j) (5-15)
j=0
RAE (5-8) . F
N—1
ro=y(N)=Cx(N)= >, CFY7"'Gu(j) (5-16)
=0
F 4y YU 0% s 43 5
N—1
ro=>.CF"N7"'Gu(j)
j=0
u(0)
u(l)
= [CFY'G { CF"*G | -+ | CFG | CG] : (5-17)
u(N —2)
lu(N — 1) |

FAHAG-OMLG-DM,.H
¥(N)=Ax(N) +Bu(N) =0 (5-18)
KR G-OHRARX(G-18) .75

N—1

DIAFY 7 'Gu () + Bu(N) =0 (5-19)

=0



BT E BREMERN

217

u(0)
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